
 

Formeln umformen 
 
1. 𝐵𝐵 = 𝜋𝜋 • (𝑅𝑅 − 𝑟𝑟) • (𝑅𝑅 + 𝑟𝑟) R = ? 13. 𝑥𝑥 = 𝑐𝑐 − 𝑦𝑦−𝑑𝑑

𝑒𝑒
 y, d, e = ? 

2. 𝑍𝑍 = 𝐴𝐴•𝐵𝐵
𝑇𝑇

+ 𝑥𝑥
𝐴𝐴
 T = ? 14. 𝑧𝑧 = 𝑣𝑣

𝑥𝑥+2
− 𝑦𝑦 y, v, x = ? 

3. 𝐶𝐶 = 1
4•𝑔𝑔

• (2 • 𝑎𝑎 + 𝐿𝐿•𝐹𝐹
𝑔𝑔

) F = ? 15. 𝑠𝑠 = 𝑣𝑣 • 𝑡𝑡 − 𝑎𝑎
2

• 𝑡𝑡2 a = ? 

4. O =  r • 𝜋𝜋 • (r +  s) s = ? 16. 5•𝑎𝑎
𝑎𝑎+𝑏𝑏

= 3 a = ? 

5. S =  2 • 𝜋𝜋 • �𝑚𝑚
𝐷𝐷

 D = ? 17. 𝐴𝐴 = (𝑎𝑎−𝑏𝑏)•ℎ
𝑚𝑚

 m, b = ? 

6. 𝐵𝐵 = 𝑑𝑑
2•(1+𝑟𝑟)

 r, d = ? 18. �1 − 𝑢𝑢
𝑣𝑣
� • (1 − 𝑤𝑤) = 𝑢𝑢 u, v, w = ? 

7. 2 • 𝑥𝑥1 −
𝑥𝑥2
2•𝑥𝑥3

= 𝑎𝑎 x1, x2, x3 = ? 19. 𝑛𝑛
𝑘𝑘−𝑚𝑚

− 𝑛𝑛 = 1 m, n = ? 

8. (𝑘𝑘+𝑙𝑙)•𝑚𝑚
𝑟𝑟

− 𝑠𝑠 = 𝑡𝑡 s, m, r, k = ? 20. 𝐴𝐴 = 𝑎𝑎•𝑏𝑏
𝑐𝑐+𝑏𝑏

+ 1 b = ? 

9. 1
𝑔𝑔

+ 1
𝑏𝑏

= 1
𝑓𝑓
 b, g, f = ? 21. 𝑆𝑆 = 8•𝑘𝑘−𝑢𝑢

2−𝑘𝑘
 u, k = ? 

10. 𝐺𝐺 = 𝐷𝐷
2•(1−𝑓𝑓)

 f = ? 22. 𝑏𝑏 = 𝑎𝑎 − 𝑎𝑎•𝑐𝑐
2•𝑒𝑒

 a, e = ? 

11. u • (v –  w)  =  u • w w = ? 23. 𝑥𝑥+1
𝑥𝑥
− 𝑦𝑦 = 𝑧𝑧 x = ? 

12. 𝑐𝑐 + 2 = 𝑏𝑏
𝑏𝑏−1

 b = ? 24. 𝑝𝑝 − 𝑡𝑡
𝑠𝑠+1

= 𝑡𝑡 s, t = ? 
 
Lösungen: 

1. 𝑅𝑅 = �𝐵𝐵+𝑟𝑟2•𝜋𝜋
𝜋𝜋

  13. 𝑦𝑦 = 𝑑𝑑 + 𝑐𝑐 • 𝑒𝑒 − 𝑥𝑥 • 𝑒𝑒; 𝑑𝑑 = 𝑥𝑥 • 𝑒𝑒 − 𝑐𝑐 • 𝑒𝑒 + 𝑦𝑦;   

         𝑒𝑒 = 𝑑𝑑−𝑦𝑦
𝑥𝑥−𝑐𝑐

 

2. 𝑇𝑇 = 𝐴𝐴2•𝐵𝐵
𝑍𝑍•𝐴𝐴−𝑥𝑥

  14. 𝑦𝑦 = 𝑣𝑣
𝑥𝑥+2

− 𝑧𝑧; 𝑣𝑣 = (𝑥𝑥 + 2) • (𝑧𝑧 + 𝑦𝑦); 

    𝑥𝑥 = 𝑣𝑣−2•𝑧𝑧−2•𝑦𝑦
𝑧𝑧+𝑦𝑦

 

3. 𝐹𝐹 = 2•𝑔𝑔
𝐿𝐿

• (2 • 𝑔𝑔 • 𝐶𝐶 − 𝑎𝑎)  15. 𝑎𝑎 = 2•𝑣𝑣•𝑡𝑡−2•𝑠𝑠
𝑡𝑡2

 

4. 𝑠𝑠 = O − 𝑟𝑟2 •𝜋𝜋
𝑟𝑟•𝜋𝜋

  16. 𝑎𝑎 = 3•𝑏𝑏
2

 

5. 𝐷𝐷 = 4•𝜋𝜋2•𝑚𝑚
𝑆𝑆2

  17. 𝑚𝑚 = (𝑎𝑎−𝑏𝑏)•ℎ
𝐴𝐴

; 𝑏𝑏 = 𝑎𝑎•ℎ−𝐴𝐴•𝑀𝑀
ℎ

 

6. 𝑟𝑟 = 𝑑𝑑
2•𝐵𝐵

− 1; 𝑑𝑑 = 2 • 𝐵𝐵 • (1 + 𝑟𝑟) 18. 𝑢𝑢 = (1−𝑤𝑤)•𝑣𝑣
𝑣𝑣+1−𝑤𝑤

; 𝑣𝑣 = 𝑢𝑢•(1−𝑤𝑤)
1−𝑤𝑤−𝑢𝑢

; 𝑤𝑤 = 𝑢𝑢•𝑣𝑣−𝑣𝑣+𝑢𝑢
𝑢𝑢−𝑣𝑣

 

7. 𝑥𝑥1 = 𝑎𝑎
2

+ 𝑥𝑥2
4•𝑥𝑥3

; 𝑥𝑥2 = 2 • 𝑥𝑥3 • (2𝑥𝑥1 − 𝑎𝑎); 19. 𝑚𝑚 = 𝑘𝑘−𝑛𝑛+𝑛𝑛•𝑘𝑘
𝑛𝑛+1

; 𝑛𝑛 = 𝑘𝑘−𝑚𝑚
1−𝑘𝑘+𝑚𝑚

 

𝑥𝑥3 = 𝑥𝑥2
4•𝑥𝑥1−2•𝑎𝑎

  20. 𝑏𝑏 = 𝑐𝑐−𝐴𝐴•𝑐𝑐
𝐴𝐴−𝑎𝑎−1

 

8. 𝑠𝑠 = (𝑘𝑘+𝑙𝑙)•𝑚𝑚
𝑟𝑟

− 𝑡𝑡; 𝑚𝑚 = 𝑟𝑟•𝑡𝑡+𝑟𝑟•𝑠𝑠
𝑘𝑘+𝑙𝑙

; 𝑟𝑟 = (𝑘𝑘+𝑙𝑙)•𝑚𝑚
𝑡𝑡+𝑠𝑠

;  21. 𝑢𝑢 = 8 • 𝑘𝑘 − 𝑆𝑆 • (2 − 𝑘𝑘); 𝑘𝑘 = 2•𝑆𝑆+𝑢𝑢
8+𝑆𝑆

 

𝑘𝑘 = 𝑟𝑟•𝑡𝑡+𝑟𝑟•𝑠𝑠−𝑙𝑙•𝑚𝑚
𝑚𝑚

  22. 𝑎𝑎 = 2•𝑏𝑏•𝑒𝑒
2•𝑒𝑒−𝑐𝑐

; 𝑒𝑒 = -𝑎𝑎•𝑐𝑐
2•𝑏𝑏−2•𝑎𝑎

 

9. 𝑏𝑏 = -𝑔𝑔•𝑓𝑓
𝑓𝑓−𝑔𝑔

; 𝑔𝑔 = -𝑏𝑏•𝑓𝑓
𝑓𝑓−𝑏𝑏

; 𝑓𝑓 = 𝑔𝑔𝑔𝑔
𝑏𝑏+𝑔𝑔

  23. 𝑥𝑥 = -1
1−𝑦𝑦−𝑧𝑧

 

10. 𝑓𝑓 = 2•𝐺𝐺−𝐷𝐷
2•𝐺𝐺

  24. 𝑠𝑠 = 2•𝑡𝑡−𝑝𝑝
𝑝𝑝−𝑡𝑡

; 𝑡𝑡 = 𝑝𝑝•(𝑠𝑠+1)
2+𝑠𝑠

 

11. 𝑤𝑤 = 𝑣𝑣
2
 

12. 𝑏𝑏 = 𝑐𝑐+2
𝑐𝑐+1

 


